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To see more from our ‘Focus on…’ series, visit http://avanti.org.uk/kapsleicester/focus-on/

What comes next in the sequence?


Answer: https://www.doodlemaths.com/pattern-puzzle/ 

How many chocolates would 
you need to make a stack as 
high as the Eiffel Tower? How 
about a line a mile long?
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in 1603, Queen 
Elizabeth I died 
aged 69.
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Six is the smallest perfect 
n u m b e r. A p e r f e c t 
number is a positive 
integer that is equal to 
the sum of its positive 
divisors. E.g. 1 + 2 + 3 = 6. 
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